WatchGuard Video

415 E. Exchange Allen, TX 75002 (P) 800-605-6734 (F) 212-383-9661



Prepared For:

Riverside Police Department - Attention: Eric Detmer 4RE/V300

QUOTATION - WLK-0106-04

DATE: 08-20-21

NASPO CA Addendum# 7-17-70-42-07

Deliverables / Materials / Services	Qty	Unit Price	Amount
4RE Standard DVR with HD Panoramic Front Camera, Cabin Camera	20	\$4,995.00	\$99,900.00
IV-4RE-SH-PX-10			
4RE Standard DVR Camera System			
HD Panoramic Front Camera			
Touch Screen Display			
Integrated 200GB automotive grade hard drive			
32GB USB removable thumb drive			
Rear facing cabin camera			
Internal GPS			
1 Yr Hardware Warranty			
Cabling and your choice of mounting bracket.			
4RE Firmware			
Record-After-the-Fact® (RATF) technology			
Multiple Resolution Encoding			
H.264 High Profile Video Compression			

4RE (V300 Integration Ready), Standard DVR with HD Panoramic Front Camera,	10	\$4,755.00	\$47,550.00
Cabin Camera, V300 WiFi Base and Smart PoE Switch.V300 sold separately.			
IV-BND-V3-PX-10			
4RE/V300 Bundle			
Standard DVR Camera System			
HD Panoramic Front Camera			
Touch Screen Display			
Integrated 200GB automotive grade hard drive			
32GB USB removable thumb drive			
Rear facing cabin camera			
Internal GPS			
1 Yr Hardware Warranty			
Cabling and your choice of mounting bracket.			
V300 WiFi Base			
Smart PoE Switch			
4RE Firmware			
Record-After-the-Fact® (RATF) technology			
Multiple Resolution Encoding			
H.264 High Profile Video Compression			
		40.00	* 0.00
V300, WiFi/Bluetooth Wearable Camera, with Magnetic Chest Mount	10	\$0.00	20.00
V300, WiFi/Bluetooth Wearable Camera, with Magnetic Chest Mount	10	\$0.00	\$0.00
BW-V30-10	10	\$0.00	\$0.00
BW-V30-10 V300, WiFi/Bluetooth Wearable Camera	10	\$0.00	\$0.00
BW-V30-10	10	\$0.00	\$0.00
BW-V30-10 V300, WiFi/Bluetooth Wearable Camera	2	\$0.00	\$0.00
BW-V30-10 V300, WiFi/Bluetooth Wearable Camera Magnetic Chest Mount			
BW-V30-10 V300, WiFi/Bluetooth Wearable Camera Magnetic Chest Mount Pre Configured V300 Transfer Station II with Power Supply and Cables.			
BW-V30-10 V300, WiFi/Bluetooth Wearable Camera Magnetic Chest Mount Pre Configured V300 Transfer Station II with Power Supply and Cables. BW-ACK-V3-TSC			
BW-V30-10 V300, WiFi/Bluetooth Wearable Camera Magnetic Chest Mount Pre Configured V300 Transfer Station II with Power Supply and Cables. BW-ACK-V3-TSC V300 Transfer Station II			
BW-V30-10 V300, WiFi/Bluetooth Wearable Camera Magnetic Chest Mount Pre Configured V300 Transfer Station II with Power Supply and Cables. BW-ACK-V3-TSC V300 Transfer Station II TS02, D350, 8-Slot Rack Mount Charge/Upload Dock, 10GB includes kit with Power Supply and Cables.	2	\$0.00	\$0.00
BW-V30-10 V300, WiFi/Bluetooth Wearable Camera Magnetic Chest Mount Pre Configured V300 Transfer Station II with Power Supply and Cables. BW-ACK-V3-TSC V300 Transfer Station II TS02, D350, 8-Slot Rack Mount Charge/Upload Dock, 10GB			
BW-V30-10 V300, WiFi/Bluetooth Wearable Camera Magnetic Chest Mount Pre Configured V300 Transfer Station II with Power Supply and Cables. BW-ACK-V3-TSC V300 Transfer Station II TS02, D350, 8-Slot Rack Mount Charge/Upload Dock, 10GB includes kit with Power Supply and Cables. V300 WiFi In-car Radio Base Bundle, includes Radio Base and Smart PoE	2	\$0.00	\$0.00
BW-V30-10 V300, WiFi/Bluetooth Wearable Camera Magnetic Chest Mount Pre Configured V300 Transfer Station II with Power Supply and Cables. BW-ACK-V3-TSC V300 Transfer Station II TS02, D350, 8-Slot Rack Mount Charge/Upload Dock, 10GB includes kit with Power Supply and Cables. V300 WiFi In-car Radio Base Bundle, includes Radio Base and Smart PoE Switch.	2	\$0.00	\$0.00
BW-V30-10 V300, WiFi/Bluetooth Wearable Camera Magnetic Chest Mount Pre Configured V300 Transfer Station II with Power Supply and Cables. BW-ACK-V3-TSC V300 Transfer Station II TS02, D350, 8-Slot Rack Mount Charge/Upload Dock, 10GB includes kit with Power Supply and Cables. V300 WiFi In-car Radio Base Bundle, includes Radio Base and Smart PoE Switch. IV-ACK-BD-V3	2	\$0.00	\$0.00
BW-V30-10 V300, WiFi/Bluetooth Wearable Camera Magnetic Chest Mount Pre Configured V300 Transfer Station II with Power Supply and Cables. BW-ACK-V3-TSC V300 Transfer Station II TS02, D350, 8-Slot Rack Mount Charge/Upload Dock, 10GB includes kit with Power Supply and Cables. V300 WiFi In-car Radio Base Bundle, includes Radio Base and Smart PoE Switch. IV-ACK-BD-V3 V300 WiFi In-car Radio Base Bundle	2	\$0.00	\$0.00
BW-V30-10 V300, WiFi/Bluetooth Wearable Camera Magnetic Chest Mount Pre Configured V300 Transfer Station II with Power Supply and Cables. BW-ACK-V3-TSC V300 Transfer Station II TS02, D350, 8-Slot Rack Mount Charge/Upload Dock, 10GB includes kit with Power Supply and Cables. V300 WiFi In-car Radio Base Bundle, includes Radio Base and Smart PoE Switch. IV-ACK-BD-V3 V300 WiFi In-car Radio Base Bundle WiFi Charging Radio Base	2	\$0.00	\$0.00

MikroTik Configured Wireless Kit, 802.11n, Drill Mount	30	\$200.00	\$6,000.00
IV-ACK-WF-CP-DM			
MikroTik Configured Wireless Kit, 4RE In-Car 802.11n			
Radio, Antenna, PoE, 2-10' Ethernet Cables			
Drill Mount			
Warranty, 4RE, In-Car, 1st Year (Months 1-12)	30	\$0.00	\$0.00
WGW00124			
Warranty, 4RE, In-Car, 2nd Year (Months 13-24)	30	\$100.00	\$3,000.00
WGW00125			
Warranty, 4RE, In-Car, 3rd Year (Months 25-36)	30	\$200.00	\$6,000.00
WGW00126			
Warranty, 4RE, In-Car, 4th Year (Months 37-48)	30	\$325.00	\$9,750.00
WGW00127			
Warranty, 4RE, In-Car, 5th Year (Months 49-60)	30	\$450.00	\$13,500.00
WGW00128			
Warranty, V300 3 Year, No-Fault	10	\$0.00	\$0.00
WGW00300-003			
Warranty, V300, 4th Year, (requires No Fault Warranty)	10	\$0.00	\$0.00
WGW00300-004			
Warranty, V300, 5th Year, (requires No Fault Warranty)	10	\$0.00	\$0.00
WGW00300-005			
Evidence Library, 4RE Annual Device License & Support Fee	30	\$195.00	\$5,850.00
WGP02400-510			
Evidence Library, VISTA/V300 Annual Device License & Support Fee	10	\$0.00	\$0.00
WGP02400-520			
Estimated Tax	1	\$14,380.63	\$14,380.63

NASPO Shipping 1 \$0.00 \$0.00

Freight

Total Price \$216,830.63

Notes:

- 1. This Quote is valid for 90 days from the Quote Date. Pricing may change thereafter.
- 2. Any sales transaction resulting from this Quote is based on and subject to the applicable Motorola's Standard Terms and Conditions, notwithstanding terms and conditions on purchase orders or other Customer ordering documents.
- 3. Motorola's Standard Terms and Conditions are found at www.motorolasolutions.com/product-terms.
- 4. Payment Terms: Equipment-Net 30 days upon shipment; Installation-Net 30 days upon completion; Services and Subscription Agreements-Net 30 days from receipt of Order.
- 5. The pricing in this Quote does not include any applicable taxes (e.g. sales/use tax).

Quoted by: Leah Kipp - Customer Engagement Representative - 800-605-6734 - leah.kipp@motorolasolutions.com